.
%

 ——

HE =F

it &

Pavaxd

EEHEER (F01)

Dllll

1 =

_l_

nu |
]]]|III
L1

INRERTH




o 2 I3 INKERT P
=i 5t =
INKERT 3 LI BT A
NEEEEEEER (F01)
E ¥ ] = CEEREH%E M)
N BN
"B
R AIENES PN SHEA 1t
B =p-E ¥ (NERN)
e HLINE ¥ (MESETHLUARE ASREAERAW)
) E S VA
HhITE
1 E
EMRE
= Bz EHEMAS
PaILG (PEEXKE BIE G NS RIASG BEFGEY)
B &L ELER
mEd E BB

AR M E D




AEBIFEEER (£01)
B 2 £ & &

¥ E NERZREEEER (F01)
BiTHE SHM2E4A9B8MLSM3EIASHET
HEATE INKERT SUILAT HBR

(Rt R E1EH)
EENREHIIUTOTERET S,
R AI/NES

(EEAR)
A, EBRBHEAEOLEY

B

OB FHARL RN
- IFEMEREOS 2. WD T B E

OTA CEBRREUIMR., BHAREERUVER
- CASCREREEVIRZEL L., ZOFEELZTOSBREROP T, BHFOBERN
BEE T2 &
- FROYYAICHEERTEARZRETS 2L
CFLCOBECHETEREmITIHL
CBFRARICAEB LN &

O RF I8
- NEReIz, MEPZFIZ1,000/ZICHFR L, 8T &
-BEFIERMTEE
CBFRARICAEB LN &

@F:5: ul
- NERERICHEEERERER (BAA) ZEIBT S &
CBFRARICAEB LN &

OfEF
- HORFHEHLNLCFERITETOE. BEEH (5%) BIBKEETSIZ L
CBRARLY 50RO EETS &

(ZEEDOIIAL) ]
FEEX. RICEBITHXRDIZHLD, ZFENSDBRICEDEXRINS 2 ENTE D,
#EXKA 98 3 A
SEOKEE 4~9 8N EERE 108~3BhnEEE

gﬁ\&%%%t;U@Eé%%\§%5:tt¢éoitxiﬂtouf@%mﬁwﬁﬁt%
Ad 5,
(ZF01th)

ABRECZEHINATOWEVARBIZDONTIE, BHYELHET L&,




= B B N R =x =iam th1 P
E Al T & SN HO& HE BfT ==K i & % B =
[EREES T
AN NES| xE 1 5
BN HWRE Hg zmzaed| 20,500 m 4100 mx 5 [q
xE 4 5
ANBRE 0 m 570 mx 0 [{
xE 3 5
BREFI B 1,140 | m 570 nix 2 [H
*x%E b &
XY 21,200 m 5300 mx 4 [g]
xE 6 &
2 HB AR 5,300 m 5,300 mx 1 [g]
xE 1 B
ZHLE 5,300 m 5,300 mx 1 [g]
xE 28 &
BARSHENHRE - #E | 2 x~ 2 Ax 1 [@
xRE 22 &
= ARBIE A - KB - HILANTY 9| XK 9 &xx 1 [q
xE 260 &
K KBS E Yo Yy FE 570 m 570 mx 1 [A
xE 1 5
EEE EWRE B EZEESD 1,740 m b80 mx 3 [A
xE 11 &
M OKER) Eim 680 | m 340 nix 2 [H
xE 4 =
ANRE 330 m 330 mx 1 [A
xE 9 =
ESEEAE 660 m 330 mx 2 [A
=% 10 &
ESERD T - EiE 330 m 3830 mx 1 [q
xE 260 &
P{EARBIE YTy F 100 m 100 mMx 1 [{




¥ K E N R X psiag o1 P2
E Al I & N HO& = E==¥v) ==X & % B =

AN NES| £ 4 5

=P:E ANBRE Yoy E 100 m 100 ix 1 [@
xF 1 5

HLIVE |BHRE B ZEESD 1,200 m 300 Mfx 4 [@
£ 4 5

ANDBRE 0 m 300 mx 0 [H
x%E 26 5

FIEAREIE A 150 m 150 mx 1 [A
xF 1 5

VY O E EWRE B ZEESD 3,360 m 840 mtx 4 [@
=% 4 5

ANDBRE 0 m 800 mx 0 [H
x%E 26 5

FIEAREIE A 400 m 400 mMx 1 [{
xF 1 5

H T TE BWRE EEFZmzEsd | 11,200 m 2800 nix 4 [{
x%E 26 5

FIEAREIE YTy F 60 m 60 mx 1 [A
xF 1 5

B E EWRE B Ezmzad| 14,000 m 3,500 nix 4 [{
£ 4 5

ANDBRE 0 m 300 mx 0 [H
xF 1 5

B E BWRE EEFZmzEasd | 14,400 m 3,600 nix 4 [{
X% 12 5

SRR 58 7N 58 Ax 1 [g]
=% 14 5

AR 58 7N 58 Ax 1 [g]
xE 22 5

= KB 29 YN 29 Ax 1 [A




= B % BN R R BEtEE

& 7 T @ N R B wE | 8| BE | % %
W LAR =
iz ZNES FIEARSIE YUYy E 190 m 190 _
TEALS |[HEnE BB AEESG| 4400 o 1,100 j
ADBE 0| 40 j
EAEEVEE W= [ 1 7N 1 ”
BEANE  |yUs-HuE 10| nf 40 i
BEERHE B IS5 =
78 515 MR E mEng gEgEyY | 14,000 m 3,500 _
By LS 3200 | i 500 j
2 HB AR 1,600 m 800 -:
RERE VYU yuE 50 | i 50 j
ADBE 0| 50 j
B EWEDH | BB AEESG| 29600 | 7,400 j
AESEE [MmmE  |w=25m 2880 | i 720 -
KENY - BN Y B EEERE ST _
KAMEDE | A Ak 750 | i 750 j
I | AR 450 | 450 ”




£ % B N R % et 01 P4
E Al I & N &R wRO% = E==¥v) ==X & % B =
AN NES| xE 3 5
SHEG M |BRERIEAA 4,500 m 2250 nix 2 [&
=% 41 5
{EARBIE 30| K 30 &Ax 1 [q]
xE 260 5
KRBT E 120 m 120 mix 1 [@
RE 42 5
P{EARBLER 30| XK 30 &Ax 1 [q]
=% 16 5
P{EARBLER 120 m 120 mix 1 [@
=% 43 5
F{EARKEAR 30| XK 30 &Ax 1 [q]
=% 13 5
YRR HEAR 120 m 120 mix 1 [@
P ERL 1 =
=% 36 5
¥ (AER)  |[BEAREELD 20| XK 20 Ax 1 [q
=% 37 5
THACEREEUIR. BHAREERTER 20 N 20 &x 1 [A]
=% 38 5
FREFEm 500 | =K 500 &Ax 1 [d
=% 39 5
RHEAR 500 =K 500 &Ax 1 [d
BERERMERKE
HEE S5 RERE 1 =
=% 36 5
HEAS 10] K 10 Ax 1 [g]
R AEETE
MR - R 1 =
L=450m, w=0.5m == 1 =
B (AEEAERNL) | IRE 450%x05%2 2,250 m 450 nfx 5 [H




X% 2 R R =K . zn1 P5
E Al I & N &R HO& = E==¥v) ==X & % B =
A IIENES] x%E 37 &
B (AEEAERAL) |TA CERBIUKR, EBHAEERUVER 20 N 20 Ax 1 [A]
BRERULDE 1 =
EEEBTER
ERE 1 =
305
SHEBIE A% 1 = 10%
B MEET







15
6
8
1
1

558
135
4
1
1
4
5
a
4
2
1
4
58
14
1
27
28

E Al

M. 151
z %
tE - ERE
v 3
T
7T¥F=-L
A4AFamw
> h
EF/F
Loy
JyanJ
141X TF
a7
9 A
=T XE
¥
Qv
RT3
T LY
PRAE S
EA45F

B 76 4

[
i




